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LO: to multiply by |0,

o Complete the calculation shown in base 10

5= 1ten= tens
5x10=
o Complete the number sentences.
a) 2 x 10 = d) 7x10=
b) 4= 10= e) 10x6=
) W0x8= ) =3x10

o Match the bar models to the multiplications.

[10/10[10{10[10}10|10|10]10]

5% 10

1M0=x9

6 x 10

° Tom has 10 boxes of eggs.

There are 12 eggs in each box.

How many eggs does he have altogether?

Tom has

Challenge question!

eggs.

o Complete the sentences.

H

O|0|0[0|0|0[00|0|0

Each row has

ten and

There are

The caleulation is

FOWS.

ones.




